$725) /() Extra thin metric series:6700,6800,6900

FC T O P ECF LT HENTRE AL A SR L

D D
N |
Dismerer: | Dismeror: | Diamesor: Padius Width: Flange Zeary Relerence
d D Dt smin) B WIABE | open | Flange | gy | Fiange
mm| inch |mm| inch | mm | inch | mm | inch |mm| inch | mm| inch Open Shield
10 | 037 | 15 | 05006 | 165 | 0649 | 015 | 0005 | 3 | 04181 | 08 | 0035 | 6700 | FETO0 - -
15 0.59086 165 | 06496 | 015 | 00059 | 4 01575 | 08 | 00315 - - 6700225 FET00ZZ5
19 | 07460 | 210 | 08268 | 030 00118 | 5 | 0199 | 10 | 00334 |6800 | FERD0 | 6800ZZ FB00ZZ
19 | 07460 | 210 | 08268 | 030 | 00118 | 7 | 0275 | 15 | 00591 | 63800 | F83800 | 63800Z | F3800ZZ
22 | 08651 | 250 | 09843 | 030 0181 | 6 | 02%2 | 15 | 00591 |6900 | FGR0D | 6900ZZ F6900ZZ
12 | 04724 | 18 | o067 | 195 | 07677 | 020 | 00079 | 4 | 01575 | 08 | 00315 |6m1 | Fe701 01ZZS | FET0IZZS
5 21 | 08268 | 230 | 09055 | 030 00118 | 5 | 0199 | 4 | 00433 |6s01 | Fe8ot 660122 F88012Z
g 21 | 08288 | 230 | 09055 | 030 | 00118 | 7 | 02756 | 15 | 00591 | 63801 F63801 8380122 Fe380122
3 24 | 09449 | 265 | 10433 | 030 00118 | 6 | 02%2 | 15 | 00591 |61 | Fegot 880122 F89012Z
5
15 | 05906 | 21 | 0828 | 225 | 08858 | 020 | 00079 | 4 | 01575 | 0B | 0035 | 6M02 | F6NO2 | 6702ZZS | FeT02ZZS
- 24 | 0949 | 260 | 1026 | 030 00118 | 5 | 0199 | 11 | 00433 [es;2 | FesR2 | ee02zz Fe8022Z
§' 24 0.9449 260 | 1.023% | 030 00118 7 02756 | 15 | 00591 | 63802 F63802 63802ZZ Fe3s02ZZ
@ 28 | 11004 | 305 | 12008 | 030 00118 | 7 | 02756 | 15 | 00501 |6902 | Feo2 | 6902ZZ F890222
L)
S0 | 17 | o066 | 23 | 09055 | 245 | 0964 | 020 | 00079 | 4 | 01575 | 08 | 00315 | 6708 | FG700 | 67035 | FTOSZZS
26 | 1026 | 280 | 11024 | 030 00118 | 5 | 01969 | 14 | 00433 [6803 | FeSBd | 680322 F803ZZ
2 | 10296 | 280 | 11024 | 030 | 0018 | 7 | 02756 | 15 | 00591 FEIB03 | 63803Z | F3808ZZ
30 | 11811 | 325 | 12795 | 030 00118 | 7 | 02756 | 15 | 00591 |6903 | P93 | 6903ZZ F8903ZZ
20 | 07874 | 27 | 10830 | 285 | 11220 | 020 | 00079 | 4 | 01575 | 0B | 00315 | 6704 | F6704 | 6704ZZS | FGTO0ZZS
% | 1258 | 350 | 13780 | 030 00148 02756 | 15 | 00591 |eso4 | Fesos | 6804z F804ZZ
2 | 12508 | 350 | 13780 | 030 | 00118 | 10 | 03937 | 20 | 00767 | 63804 | FE304 | 6304Z | Fe33MZZ
37 | 14567 | 400 | 15748 | 030 00118 | 9 | 03543 | 20 | 00767 |6904 | FBO4 | GOOAZZ F8904Z2
%5 | 09843 | %2 | 12508 | 840 | 1398 | 020 | 00079 | 4 | 01575 | 10 | o034 |6r05 | Feves - -
37 | 14567 | 400 | 1578 | 030 00118 0275 | 15 | 00591 | 6805 | FeR0s | 6e0szz FB052Z
37 | 14567 | 400 | 1578 | 030 | 0018 | 10 | 037 | 20 | 00787 FEIB05 | 63805Z | Fe9805ZZ
42 | 16535 | 450 | 17717 | 030 | 00118 | § | 03543 | 20 | 0O77 | 6905 | FG%05 | 6905Z F905ZZ
30 | 11811 | 87 | 14567 | 290 | 15954 | 020 | o0oor9 | 4 | o575 | 10 | oosss |ere | revoe - -
@ | 16535 | 450 | 17717 | 030 | oote 02756 | 15 | 00591 |6s06 | Fesos | 68062z FB06ZZ
42 | 16535 | 450 | 17717 | 030 | 00118 | 10 | 02937 | 20 | 0077 FE3B06 | 63806ZZ | Fe9806ZZ
47 | 18504 | 500 | 19685 | 030 0018 | 9 | 03543 | 20 | 00767 |es06 | Fess | 6e0szz F69062Z

1) Bearings also avallable with single shield or seal © suffix 2. BS, BU er TS
2) Bearings also available with stainless material : suffix H
3 5UJ2 bearinags use B tvpe retainer.stainless bearings use J tvoe ralainer,



Extra thin metric series:6700,6800,6900 —/© /L)

FifEh G LR A PR TP T T EERTE

Bf—= —-—

Load Rating Max. Speed Ball Complement Weight (Ref.)
Seal o) Corfyy | Grease oil (T:;?: Qty:Z | SizeDw | Shield | San9e

2RS | 2RU | TTS x1000rpm pcs. mim inch g
- - - 435 15 17 W 1 1.588 0.0625 14 18
2R3 - | T1§ 855 435 15 17 W 11 1.588 0.0625 19 21
2RS | ZRU - 1716 B40 a 43 JTW 10 2381 0.0837 56 6.1
RS | AU | - 1716 B840 37 43 JTW 10 2.381 0.0837 74 81
2RS | 2RU - 2685 1273 34 41 J ] 3175 0.1250 100 1.3
2RS - | TIS 926 530 13 15 W 13 1,588 0.06825 3 34
2RS | 2AU = 1915 1041 3 39 JTW 12 2.361 0.0837 6.5 (Al
MRS | AU - 1915 1041 3 3 JTW 12 2.381 0.0837 85 93
2RS | ZRU = 2886 1466 31 ¥* J 10 3175 0.1250 120 132
2R3 - | TI§ 937 582 11 13 W 14 1.588 0.0625 186 39
RS | 2AU - 2073 1253 28 33 JTW 14 2.381 0.0837 78 83
RS | AU | - 2073 1253 28 3 JTW 14 2381 0.0837 10.0 10.9
2RS | ZRU - 431 2259 26 30 J 10 3.968 0.1563 190 198
2RS - | TIS 1000 658 8.5 i W 16 1.588 0.0625 40 44
2AS | ZRAU = 2233 1456 26 30 JTW 16 2.381 0.0837 8.2 89
RS | A - 2233 1456 2 30 JTW 16 2.381 0.0837 1.0 120
2RS | ZRU - 4588 2565 23 38 J 1 3969 0.1563 200 214
2RS - | TI8 1402 728 85 10 W 18 1.588 0.0625 59 6.3
2RS | 2AU - 4015 2462 21 25 JAS ¥ 13 3500 0.1378 180 198
I T 4015 2452 2 25 JR) @ 13 3.500 0.1378 240 265
2AS | 2RU = 6381 3662 19 23 Rd 1 4,762 0.1875 400 428
2RS - - 1081 838 7 ] W 21 1.588 0.0625 (A 79
RS | AU - 4303 2932 18 21 JR) @ 15 3500 0.1378 240 26.1
2RS | Z2RU - 4303 2832 18 21 JAR) @ 15 3500 0.1378 320 31
2RS | 2AU - 700 4540 18 19 R 13 4,762 01875 470 50.2
- 2RU - 1143 847 55 7 1) 24 1.588 0.0625 83 92
RS | AU | - 4538 3402 15 18 JR) ¥ 17 3.500 01378 2 294
RS | AU - 4538 3402 15 18 JR) @ 17 3.500 0.1378 3.0 382
RS | 2AU - 7242 5003 14 17 RJ 14 4.762 0.1875 530 56.6




$725) &/ Extra thin metric series:6700,6800, 6900

RAFTL ALY PR LS L IR BESRIFR H FRELALADAME 130 L

B R R

s

Bearing R
DiBore ) _Outer ‘Flange Radius Width: Flange earing Reference
ameter: Diameter: Diameter: Istmin B Width: Bf
d D Df (min) : Open ga“ge Shield | Flange
mm | inch mm inch mm inch mm inch mim inch mm inch pen Shield
35 1.3780 44 1.7323 = - 0.30 0.0118 5 0.1969 - - BT07 - - -
47 1.8504 500 1.9685 0.30 0.0118 7 0.2756 15 0.0591 6807 F&807 6807ZZ FB807ZZ
55 2.1654 58.0 2.2835 0.60 0023 | 10 0.3937 25 0.0884 6907 F&a07 690722 FBO07ZZ
40 15748 50 1.9685 = - 0.30 0.0118 (] 0.2362 = - 6708 - - -
52 2.0472 55.0 2.1654 0.30 0.0118 7 0.2756 1.5 0.0591 6808 F&808 680822 F6808Z2
62 24409 5.0 2.5591 0.60 0023 | 12 0.4724 25 0.0984 6908 F6908 690822 F608ZZ
o
0 45 17717 55 2.1654 = - 03 0.0118 (] 0.2362 - - 6709 - - -
g 58 2.2835 61 24016 03 0.0118 7 0.2756 1.5 0.0591 6809 F6809 680022 F6800ZZ
E 68 26772 ! 2.7953 0.6 0023% | 12 0.4724 25 0.0984 6909 F&909 690022 FE900ZZ
50 1.9685 62 24408 = - 03 0.0118 (] 0.2362 = - 6710 - - -
g 65 25501 68 26172 03 0.0118 7 0.2756 1.5 0.0591 6810 F&&10 681022 F6810Z2
% 72 2.8346 75 29528 06 00236 | 12 0.4724 25 0.0884 6910 F6910 691022 F6910ZZ
= |
o,
g 55 | 2.1654 72 2.8346 = - 03 0.0118 ] 0.3543 = - 6811 - 881122 -
BO 3.14% = - 10 00394 | 13 0.5118 = - 6911 - 91122 -
60 | 23622 78 30709 = - 03 00118 | 10 0.3937 = - 6812 - 681222 -
B3 3.3465 = - 10 0034 | 13 0.5118 = - 6912 - 691222 -
65 | 25591 85 3.3485 = - 0.6 0.023 | 10 0.3937 = - 6813 - 681322 -
a0 35413 = - 10 0034 | 13 05118 = - 6913 - 691322 -
70 | 27559 80 35433 - - 0.6 0.023 | 10 0.3937 = - 6814 - 681422 -
100 | 39370 = - 10 00394 | 16 0.6299 - - 6914 - 691422 -
75 | 29528 95 3.7402 = - 06 0023 | 10 0.3937 = - 6815 - 681522 -
105 | 41339 = - 1.0 0.0394 | 16 0.6299 = - 6915 - 691522 -
B0 | 314% | 100 | 39370 = - 06 0023 | 10 0.3837 = - 6816 - 681622 -
1M | 43307 = - 1.0 0.0394 | 16 0.6299 = - 6916 - 6916ZZ -
85 3.3465 10 43307 = = 1.0 0.0394 13 05118 - = 6817 - 6817ZZ -
120 | 47244 = - 1.1 0.0433 | 18 0.7087 = - 67 - 6917ZZ =
o) | 3541 | 115 | 45276 = - 10 00394 | 13 05118 = - 6818 - 681822 -
125 | 49213 = - 1.1 0.0433 | 18 0.7087 = - 6918 - 691822 -

1) Bearings also available with single shield or seal  suffix 2, RS, AU or TS
2) Bearings alsc available with stainless material © suffix H
1N SUJ2 bearings use BJ tvoe retainer slainless bearinos use J tvpe retainer.



Extra thin metric series:6700,6800, 6900 </ (/)

Df d

—g
=)

- B -
Bf__l -

| b
|

d

EHECERR HETUECAHE S |

Ao AL o A2 ES AT J2ARG

Load Rating Max. Speed Ball Complement Weight (Ref.)
. Cage . . Flange
2RS | 2RU [ TTS x1000rpm pcs. mm inch g
2RS - - 1866 1635 49 i W 26 2000 0.0787 150 -
2RS | 2RU - 4729 3821 13 16 JRJ ® 19 3.500 0.1378 320 My
2RS | Z2RU - 10900 7818 12 14 Rl 14 5.953 0.2344 87.0 922
2RS - - 2516 2233 4.3 5 W 25 2381 0.0837 230 -
2RS | Z2RU - 4923 4178 12 14 J i 3.500 0.1378 350 38.0
2RU - 13678 9968 1 13 Rl 14 6.747 0.2656 13 137
2RS - - 2580 2397 39 45 ] 27 2381 0.0837 250 -
2RS | 2RV - 187 53681 1.0 130 J 2 3.969 0.1563 420 453
2AS | ZRU - 14100 10830 9.7 1.0 RJ 15 6.747 0.2656 147 153
2RS - - 2670 2640 35 41 W 30 2381 0.0837 64.0 -
2RS | Z2RU - 6610 6030 96 1.0 JAJ ¥ 24 3.969 0.1563 520 -
2AS | 2RU - 14540 11710 9.0 1.0 RJ 16 6.747 0.2656 133 -
2RS | Z2RU - 8500 8100 8.7 100 RJ 22 4762 0.1875 83.0 -
2RS - - 16600 14100 a1 98 RJ 17 7144 0.2813 185 -
2RS - - 11500 10600 40 94 RJ 2 5.556 0.2187 104 -
2RS - - 20200 17300 15 84 RJ 17 7.938 0.125 192 -
2RS - - 11800 11500 13 85 RJ 23 5.556 0.2187 126 -
2R8 - - 17400 16100 71 84 Rl 19 7144 0.2813 211 -
2RS - - 12100 11800 6.8 8.1 RJ 2 5.556 0.2187 13 -
2RS - - 23700 21200 6.4 78 Rl 17 B.73 0.3437 342 -
2RS = - 12500 12800 125 129 Rl 26 5.556 0.2187 142 -
2RS - - 24400 22600 6.1 72 R 18 B.73H 0.3437 363 -
2RS | 2RV - 12700 13300 127 133 Rl 27 5.556 0.2187 150 -
2RS - - 25000 24000 57 68 Rl 19 B3 0.3437 382 -
2RS = - 18700 19000 5.6 65 Rl 23 7144 0.2813 266 -
2RS - - 31900 29600 53 6.3 Rl 17 10,319 0.4083 535 -
2RS = - 19000 19700 5.3 6.3 Rl 2 7144 0.2813 27 -
2AS - - 32800 31600 5.1 6.0 Rl 18 10.319 0.4083 565 -




S72) &/ Extra thin metric series: ET

B lodLh o JEE R JRAIL GG FHEL AL ML LS LU

—

B, [=—B—
L i f i T,
1 i T i 14
T D d D d

—— =

ET series
Bore Outer Open | SealShield | Radius: |2¢¥id References Load Rating| Max. Speed Ball Complement | Weight{Ref)
piameler: | Damete: \;o'rib:igﬂ: 1o Wi | Feemi) ' Cr |Cor|Gu| Ol Eﬂeﬂl\f Size: Shield
d D B B Open (St Seal ' | o) ye z | Dw
mm | inch | mm | inch | mm | inch | mm | inch |mm  inch X1000rpm pcs.| mm | inch
1§ (05906 | 20 |07874 | 35 | 01378 | = = J045| 00059 | ET2MS | — | — | 942 (562 | 22 | 26 | W | 14 | 1.588 | 0.0625 | 2.10
08268 | 35 | 0.1378 | = = J0A5| 00059 | ET2115 | — | — | 939 (581 | 2 | 26 | W | 14 | 1.588 | 0.0825 | 243
06299 | 22 |08661| 40 [04575| = | — |05/ 00058 | ET2216 | — | — | 968 | 619 | 20 | 24 | W | 15 | 1.588 | 0.0625 | 3.4

|edluyaa

23 | 09055 | 45 | 04772 | 45 | 0.1772 | 045 | 0.0059 | ET2316 | ZZS | TTS | 968 | 619 | 20 | 24 | W | 15 | 1.5688 | 0.0625 | 4.03

18 | 07087 | 24 | 00445 | 40 | 01575 | — = 045 |00050 | ET218 | — | — | 988 (654 | 18 | 21 | W | 16 | 1.588 | 0.0625 | 425

O
q
0]
-
Q
o
=

20 | 07874 | 25 | 09843 | 40 | 0.1575 | 40 | 0.1575 | 015 | 0.0059 | ET2520 | ZZS | TTS (1011|681 | 17 | 20 | W | 17 | 1.568 | 0.0625 | 355




